
Router A Router B Router C 

Serial1/0/0 Serial2/0/0 Serial1/0/0 Serial1/0/0 

100.100.200.1 100.100.100.2 100.100.100.1 100.100.200.2 

Router B can ping all the interfaces on the network 
because, router has a physical connection to each 
router 

Router  C is unable to ping Router A, because there is 
no physical connection between Router C and Router A 
 
How to solve this issue between C and A , static route 
only  works  to serial1/0/0 on router b. 

Router A is unable to ping serial 1/0/0 on router b, 
there is no physical connection between router a and 
router c 


